

DIOPHANTINE REPRESENTATION OF THE FIBONACCI NUMBERS

JAMES P. JONES

The University of Calgary, Calgary, Alberta, Canada

In the year 1202, the Italian mathematician Leonardo of Pisano, or *Fibonacci* as he is known today, gave the sequence $1, 1, 2, 3, 5, 8, 13, 21, \dots$, in his book *Liber Abacci*. The numbers occurred in connection with a problem concerning the number of offspring of a pair of rabbits. The sequence has many interesting properties, and has fascinated mathematicians for over 700 years. It is usually defined recursively by means of the equations

$$\phi_1 = 1, \quad \phi_2 = 1, \quad \text{and} \quad \phi_{n+2} = \phi_n + \phi_{n+1}.$$

These equations permit us to obtain the n^{th} Fibonacci number, ϕ_n , by computing all smaller Fibonacci numbers. Many formulas are known which permit calculation of the n^{th} Fibonacci number directly from n . J.P.M. Binet found [1] the well known formula

$$\phi_n = \frac{1}{\sqrt{5}} \left[\left[\frac{1+\sqrt{5}}{2} \right]^n - \left[\frac{1-\sqrt{5}}{2} \right]^n \right].$$

E. Lucas [6] noticed that the Fibonacci numbers were the sums of the binomial coefficients on the "rising diagonals" of Pascal's triangle.

$$\phi_n = \binom{n-1}{0} + \binom{n-2}{1} + \binom{n-3}{2} + \dots.$$

We shall prove here that the set of Fibonacci numbers is identical with the set of positive values of a polynomial of the fifth degree in two variables:

$$(1) \quad 2y^4x + y^3x^2 - 2y^2x^3 - y^5 - yx^4 + 2y.$$

To construct the polynomial (1), we shall need three lemmas. These lemmas assert that pairs of adjacent Fibonacci numbers, and only these, are to be found among the points with integer coordinates on the hyperbolas

$$y^2 - yx - x^2 = \pm 1.$$

(L.E. Dickson [4] credits E. Lucas [7] and J. Wasteels [13] with this observation.)

Lemma 1. For any positive integer i ,

$$\phi_{i+1}^2 - \phi_{i+1}\phi_i - \phi_i^2 = (-1)^i.$$

Proof. By induction on i . Plainly, the statement is true if $i = 1$. Suppose it holds for i . Then

$$\begin{aligned} \phi_{i+2}^2 - \phi_{i+2}\phi_{i+1} - \phi_{i+1}^2 &= (\phi_i + \phi_{i+1})^2 - (\phi_i + \phi_{i+1})\phi_{i+1} - \phi_{i+1}^2 \\ &= -(\phi_{i+1}^2 - \phi_{i+1}\phi_i - \phi_i^2) = -(-1)^i = (-1)^{i+1}. \end{aligned}$$

This completes the proof of the lemma.

Lemma 2. For any positive integers x and y , if $y^2 - yx - x^2 = 1$ then it is possible to find a positive integer i such that $x = \phi_{2i}$ and $y = \phi_{2i+1}$.

Proof. By induction on x . If $x = 1$ then necessarily $y = 2$. In this case we may take $i = 1$.

Suppose that x and y are numbers satisfying the equation of the lemma and that $1 < x$. Then $2 \leq y$. Assume that the statement of the lemma holds for all pairs, (x_0, y_0) , of positive integers for which $x_0 < x$. Let us set $x_0 = 2x - y$, and $y_0 = y - x$. Since $2 \leq y$,

$$(x+1)^2 = x^2 + 2x + 1 \leq x^2 + yx + 1 = y^2,$$

hence $y > x$. And since $1 < x$,

$$y^2 = yx + x^2 + 1 < yx + x^2 + x = yx + (x+1)x \leq yx + yx = 2yx,$$

hence $y < 2x$. Therefore

$$(2) \quad 0 < x_0 < x, \quad \text{and} \quad 0 < y_0.$$

Furthermore,

$$(3) \quad y_0^2 - y_0 x_0 - x_0^2 = (y-x)^2 - (y-x)(2x-y) - (2x-y)^2 = y^2 - yx - x^2 = 1.$$

The induction hypothesis, together with (2) and (3) implies that it is possible to find a positive integer i such that $x_0 = \phi_{2i}$ and $y_0 = \phi_{2i+1}$. Then

$$x = x_0 + y_0 = \phi_{2i} + \phi_{2i+1} = \phi_{2(i+1)} \quad \text{and} \quad y = y_0 + x = \phi_{2i+1} + \phi_{2i+2} = \phi_{2(i+1)+1}.$$

This completes the proof of the lemma.

Lemma 3. For any positive integers x and y , if

$$y^2 - yx - x^2 = -1,$$

then it is possible to find a positive integer i such that $x = \phi_{2i-1}$ and $y = \phi_{2i}$.

Proof. Let x and y be numbers satisfying the conditions of the lemma. Then

$$(x+y)^2 - (x+y)(y) - y^2 = x^2 + 2xy + y^2 - xy - y^2 - y^2 = -(y^2 - xy - x^2) = -(-1) = 1.$$

According to Lemma 2 it is possible to find a positive integer i such that

$$y = \phi_{2i} \quad \text{and} \quad x+y = \phi_{2i+1}.$$

Hence

$$x = \phi_{2i+1} - \phi_{2i} = \phi_{2i-1} \quad \text{and} \quad y = \phi_{2i}.$$

This completes the proof of the lemma.

Lemmas 1, 2 and 3 imply that the set of all Fibonacci numbers has a very simple Diophantine defining equation. [A relation in positive integers is said to be *Diophantine* if it is equal to the set of values of parameters for which a polynomial equation is solvable in positive integers.]

Theorem 1. For any positive integer y , in order that y be a Fibonacci number, it is necessary and sufficient that there exist a positive integer x such that

$$(4) \quad (y^2 - yx - x^2)^2 = 1.$$

Proof. We have only to use Lemmas 1, 2, and 3.

Lemma 4. If x and y are positive integers, then $y^2 - yx - x^2 \neq 0$.

Proof. Multiplying by 4 and completing the square, we find that

$$4y^2 - 4yx - 4x^2 = (2y-x)^2 - 5x^2.$$

If the right side of this expression were zero, for positive integers x and y , then $\sqrt{5}$ would be a rational number. The lemma is proved.

Theorem 2. The set of all Fibonacci numbers is identical with the set of positive values of the polynomial

$$(1) \quad y(2 - (y^2 - yx - x^2)^2)$$

for $(x = 1, 2, \dots, y = 1, 2, \dots)$.

Proof. According to Theorem 1, if y is a Fibonacci number then a positive integer x may be found to satisfy equation (4). For such an x , (1) assumes the value y . Therefore all Fibonacci numbers are values of the polynomial (1).

To see that *only* Fibonacci numbers are assumed as values of (1), suppose that x, y and w are positive integers and that

$$(5) \quad w = y(2 - (y^2 - yx - x^2)^2).$$

Then, since y and w are positive, we see that

$$(6) \quad 0 < (y^2 - yx - x^2)^2 < 2,$$

using Lemma 4, to obtain the lower inequality.

Since x and y are integers, (6) implies that equation (4) must hold. According to Theorem 1, y must be a Fibonacci number. Equations (4) and (5) imply that $w = y$. Therefore w is a Fibonacci number.

This completes the proof of the theorem. (Putnam's method [10] would produce a polynomial of degree 9.)

The polynomial (1), which represents the set of Fibonacci numbers, assumes in addition certain negative values such as -28 ($x = 2, y = 2$). The appearance of non-Fibonacci numbers cannot be prevented, for we can prove

Theorem 3. The set of Fibonacci numbers is not the exact range of any polynomial.

Proof. We shall show that a polynomial $P(x_1, x_2, \dots, x_k)$ which assumes only Fibonacci number values must be constant. The proof will be carried out by induction on the number k of variables.

If $k = 0$, there is nothing to prove. Let us assume that the result holds for k and consider a polynomial

$$P(x_1, x_2, \dots, x_k, x_{k+1})$$

in $k + 1$ variables. If this polynomial is not identically zero then we may write

$$P(x_1, x_2, \dots, x_k, x_{k+1}) = \sum_{i=0}^m P_i(x_1, x_2, \dots, x_k) x_{k+1}^i, \quad P_m(x_1, x_2, \dots, x_k) \neq 0.$$

If $m = 0$, then $P(x_1, x_2, \dots, x_k, x_{k+1})$ is a polynomial in x_1, x_2, \dots, x_k only. If not we may find positive integers a_1, a_2, \dots, a_k for which the polynomial

$$Q(x) = P(a_1, a_2, \dots, a_k, x)$$

is not constant. In this event we must have one or the other of two cases:

$$(i) \lim_{x \rightarrow +\infty} Q(x) = +\infty, \quad \text{or} \quad (ii) \lim_{x \rightarrow +\infty} Q(x) = -\infty.$$

Assuming there are no negative Fibonacci numbers (see remark following), we have only case (i) to deal with. Since $Q(x)$ is a polynomial, a positive integer b may be found such that

$$(7) \quad Q(b) < Q(b+1) < Q(b+2) < Q(b+3) < \dots$$

By assumption, $Q(x)$ assumes only Fibonacci number values. Choose a positive integer c such that $\phi_c = Q(b)$. Condition (7) implies that for each positive integer y

$$(8) \quad \phi_{c+y} \leq Q(b+y).$$

The formula of Binet may be used to prove that for each positive integer n ,

$$(9) \quad \left| \phi_n - \frac{1}{\sqrt{5}} \left[\frac{1+\sqrt{5}}{2} \right]^n \right| < \frac{1}{2}.$$

Conditions (8) and (9) imply that for each positive integer y

$$(10) \quad \frac{1}{\sqrt{5}} \left[\frac{1+\sqrt{5}}{2} \right]^{(c+y)} \leq Q(b+y) + \frac{1}{2}.$$

Inequality (10) implies that the polynomial $Q(b+y) + \frac{1}{2}$ grows exponentially, which is, of course, impossible.

This completes the proof of the theorem.

REMARK. The sequence of Fibonacci numbers is sometimes continued into the negative:

$$\dots, -55, 34, -21, 13, -8, 5, -3, 2, -1, 1, 0, 1, 1, 2, 3, 5, 8, 13, 21, 34, 55, \dots$$

The assertion of Theorem 3 remains correct for this enlarged set. We need only modify the proof to deal with case (ii) as was done with case (i). Also, it is not difficult to see that the number of variables in the polynomial (1) cannot be further decreased. Thus Theorem 2 is best possible.

THE RELATION $v = \phi_u$

In 1970 Ju. V. Matijasevič made ingenious use of the Fibonacci numbers to solve Hilbert's tenth problem. In his famous address of 1900 [5], David Hilbert posed the problem of finding an algorithm to decide of an arbitrary polynomial equation, in several variables, with integer coefficients, whether or not the equation was solvable in integers.

Matijasevič [8], [9] showed that no such algorithm exists. He proved this by proving that every recursively enumerable set is Diophantine.

The Fibonacci numbers were important in Matijasevič's proof, because the sequence of Fibonacci numbers grows exponentially. Martin Davis, Julia Robinson and Hilary Putnam [3] had nearly solved Hilbert's tenth problem in 1961, when they succeeded in proving that the stated result would follow from the existence of a single Diophantine predicate with exponential growth. Matijasevič completed the solution of Hilbert's tenth problem by proving that the relation $v = \phi_{2u}$ is Diophantine.

In [8], [9], Matijasevič gives an explicit system of ten Diophantine equations such that, for any given positive integers u and v , the equations are solvable in the other variables if and only if $v = \phi_{2u}$. Of course it follows from the central result of [8], [9] that the relation $v = \phi_u$ is also Diophantine. However, an explicit system of equations for this relation is not written out in [9].

We shall give here an explicit system of Diophantine equations for the relation $v = \phi_u$. Our equations may conveniently be based upon Lemmas 1 and 2 and the equations of Matijasevič [9].

Theorem 4. For any positive integers t and w , in order that $w = \phi_t$, it is necessary and sufficient that there exist positive integers $a, b, c, d, e, g, h, l, m, p, r, u, v, x, y, z$ such that

$$\begin{aligned} (11) \quad & u + a = l, \\ (12) \quad & v + b = l, \\ (13) \quad & l^2 - lz - z^2 = 1, \\ (14) \quad & g^2 - gh - h^2 = 1, \\ (15) \quad & l^2c = g, \\ (16) \quad & ld = m - 2, \\ (17) \quad & (2h + g)e = m - 3, \\ (18) \quad & x^2 - mxy + y^2 = 1, \\ (19) \quad & l(p - 1) = x - u, \\ (20) \quad & (2h + g)(r - 1) = x - v, \\ (21) \quad & ((2u - t)^2 + (w - v)^2)((2u + 1 - t)^2 + (w^2 - wv - v^2 - 1)^2) = 0. \end{aligned}$$

Proof. For the proof we refer the reader to [9], proof of Theorem 1. There it is shown that equations (11)–(20) are solvable in positive integers if and only if $v = \phi_{2u}$. (In the necessity part of this proof we find that $3 < m$ and also $u \leq v \leq x$, so that conditions (40), (41), (43) and (44) there, may be replaced by equations (16), (17), (19) and (20) above.) When $v = \phi_{2u}$, Lemma 2 implies that the condition $w^2 - wv - v^2 = 1$ is equivalent to $w = \phi_{2u+1}$. Thus equation (21) holds if and only if

$$t = 2u \quad \text{and} \quad w = \phi_{2u}, \quad \text{or} \quad t = 2u + 1 \quad \text{and} \quad w = \phi_{2u+1}$$

Thus equations (11)–(21) are solvable if and only if $w = \phi_t$.

Theorem 4 makes it possible to give a polynomial formula for the t^{th} Fibonacci number, ϕ_t . We shall prove

Theorem 5. There exists a polynomial $P(t, x_1, \dots, x_{12})$, of degree 13, with the property that, for any positive integers t and s ,

$$\phi_t = s \Leftrightarrow (\exists x_1, \dots, x_{12}) [P(t, x_1, \dots, x_{12}) = s].$$

Proof. The variables l, g, m and x are easily eliminated from the system (11)–(21) by means of Eqs. (11), (15), (16) and (19). Also, the variables b and c may be replaced by a single variable. (We need only use the fact that when α and β are positive integers, and γ is any integer, $\alpha|\beta$ and $0 < \gamma$ is equivalent to $(\exists \lambda)[\alpha\beta\gamma = \beta + \lambda\alpha]$.) If we now transpose all terms in the equations to the left side and sum the squares of the equations, we obtain the polynomial $Q(t, w, a, \dots, z)$ with the property that $\phi_t = w$ if and only if $Q(t, w, a, \dots, z) = 0$ for some positive integers a, \dots, z . Q will be a polynomial of the 12^{th} degree. For P we may take the polynomial $w(1 - Q(t, w, a, \dots, z))$.

REFERENCES

1. J.P.M. Binet, *Comptes Rendus*, Paris, 17 (1843), p. 563.
2. Martin Davis, "Hilbert's Tenth Problem is Unsolvable," *Amer. Math. Monthly*, 80 (1973), pp. 233–269.
3. Martin Davis, Hilary Putnam and Julia Robinson, "The Decision Problem for Exponential Diophantine equations," *Ann. of Math.*, 74 (1961), pp. 425–436.

4. Leonard E. Dickson, *History of the Theory of Numbers*, Vol. 1, Carnegie Institution of Washington, Washington, D.C., 1919.
5. David Hilbert, *Mathematische Probleme*, Vortrag, gehalten auf dem internationalen Mathematiker-Kongress zu Paris, 1900, Nachrichten Akad. Wiss. Göttingen, Math.-Phys. Kl. (1900), pp. 253–297. English translation: *Bull. Amer. Math. Soc.*, 8 (1901–1902), pp. 437–479.
6. E. Lucas, *Comptes Rendus Paris*, 82 (1876), pp. 165–167.
7. E. Lucas, *Nouv. Corresp. Math.*, 2, 1876, pp. 201–206.
8. Yuri Matijasevič, "Enumerable Sets are Diophantine," *Doklady Akademii Nauk SSSR*, 191 (1970), pp. 279–282. English translation: *Soviet Math.*, Doklady, 11 (1970), pp. 354–358.
9. Yuri Matijasevič, "Diophantine Representation of Enumerable Predicates," *Izvestija Akademii Nauk SSSR. Serija Matematičeskaja*, 35 (1971), pp. 3–30. English translation: *Mathematics of the USSR – Izvestija* 5 (1971), pp. 1–28.
10. Hilary Putnam, "An Unsolvable Problem in Number Theory," *Journal of Symbolic Logic*, 25 (1960), pp. 220–232.
11. Julia Robinson, "Hilbert's Tenth Problem," *Proc. Sympos. Pure Math.*, 20 (1971), pp. 191–194.
12. N.N. Vorob'ev, *Fibonacci Numbers*, Pergamon Press, Oxford, 1961. (Translation of *Chisla fibonachchi*, Moscow-Leningrad, Gostekhteoretizdat, 1951.)
13. J. Wasteels, *Mathesis*, (3), 2, 1902, pp. 60–62.

★★★★★